Finding K with y=mx + b.notebook December 08, 2015

1. Aline passes through points (3, 4) and
= (8 + k 3 If the slope of the line is

Warm Up Questions ~ 15 Mok

1. Aline passes through points (3, 4) and VYL’ —1
(8 + k, 3). If the slope of the line is >
perpendicular to y = 2x + 8, find k.

2. Aline has and x-int of 4 and passes
through (4, k - 8) and is perpendicular to
the y-axis.

3. Aline passes through (k, 9) and the origin. -A+S

If the slope is parallel to y = 9/5x + 2, find k.
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2. Aline has and x-int of 4 and passes 3. Aline passes through (k, 9) and the origin.
through (4, k - 8) and is perpendicular to . ope .
) If the slope is ehto y = + 2, find k.
the y-axis. +b
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(b) y-int : L y-int: _— )

(™) siope: =+ Slope: %~ "%
Equation: 571- — HLi/sX +4 Equation: },1— 5% — 4
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4 <D / 4= K HE

= -int : ,
(b) Ini#taahount: i y Nang
Cm) rate of change: L’/:;J, = A Slope: (Indefinod-
Equation: \,/ =Y —~6 Equation: X = Lj‘
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j % Graph é =-2/5x + 8

y-int: —3 @“@kin% <
Stope: O Slope:—a/ﬁ
Equation: y =-3

Dec 7-1:33 PM Dec 7-1:23 PM

Slope = 3/2
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Calculate the slope that is@to y = 8x +2?

=4

Slope : 2
Answer: _ ¥

Calculate the slope that is(perpendicular to

y=3/7Tx- 27

Slope :3 / -+
Answer:_ '/ 2
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Calculate the slope that is@te

E j’— 0X+5

Slope : ()
Answer: __ ()
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